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Example Problem - Le 16
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Ex. 
A 1 kg ball moving horizontally at 12 m/s strikes a 10 kg block.  The coefficient of restitution of the impact is e=0.6., and the coefficient of kinetic friction between the block and the inclined surface is 0.4.  What distance does the block slide before stopping?
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Strategy:
COLM(FT)  process 1(2


COE(FT)  process 2(3

Process 1(2
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Kinetics:

COLM(FT)  n-direction
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Constitutive Models:


Coefficient of Restitution
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Solving:


Note:
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Process 2(3
Kinetics:


COE(FT)
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Solving:
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Impact / Coefficient of Restitution
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